YpPOK MaTeMaTUuku

Tema: «YMHOXeHue 2, 20, 200 Ha 2, 20, 200.
CooTBeTCTBYIOLLME CIyYan OeneHns».

ABTtop: Ctapuesa Jlitogmuna IBaHOBHa
Yyntenb HavasrbHbIX KNaccos

MOYCOLL Ne 17
Ct. OTpagHas
OTpagHEHCKNA panoH

KpacHogapckun kpam
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4 ]+ 10 =12 1812 + 22.= 31

40 {1+ 10 =30 5A2+18 =28
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200 - 1 = 200,4
200 - 2 = 4oo$
200 - 3 = 600
200 - 4 = 800
200 - 5 = 1000
200 - 6 = 1200
200 - 7 = 1400
200 - 8 = 1600
200 - 9 = 1800
200 - 10 = 2000
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200:200=1 . |200:1=200

400:200=2 : 400:2~=200
600:200=3 - 600:3 =200
800:200=4 : 800:4~=200

1000:200=5 : 1000:5 =200
1200:200=6 - [1200:6 =200
1400:200=7 : 1400:7 =200
1600:200=8 - 1600:8 =200
1800:200=9 . 11800:9 =200
2000 : 200=10 - 2000: 10 =200
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 UTO naBanocb BaMm ferko? /
* UTO HYXXHO eLLe 3aKkpennTb?




